[N of simulated tracks vs dxy(PV) ] N of associated tracks (simToReco) vs dxy(PV) |

1% 12
Qo a
9o =
E
o
Z 2
< 1%}
Q c
S <}
[= ]
24
L2 2
T T
o o
B . A
5 0 00 =15 10 5 0 5 10 15 20
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_noFit_step2_ttbar-phasel-newgeom
—— DQM_noCPE_step2_ttbar-phasel-newgeom
—— DQM_cpeGenericTime_step2_ttbar-phasel-newgeom
| N of sim| —— DQM_cpeTe Time_step2_ttbar-phasel-newgeom
[} P-— 12
@ . o
9 =
£ 10° z
o
g 2
X 1%}
Q =4
8 8
F 102 &
10
o Ly o
T T
o 24
N
-0.8-06-04-02 0 02 04 06 08 -0.8-06-04-02 0 0.2 04 06 08
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
1% n
2 o
9 =
g 10° E
g E
X 1%}
[*] c
g 8
=
102 &
10
1
9 L.V - 9
T T
o 1 @
*%30 20 0 10 20 30 0% 20 10 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
1% n
@ a
2 =
5 3
o
g =
< 1%}
Q c
S s}
[= 3
24
L8 o
I T
o o
%05 0 05

X 1 0.5 1
TP dz(PV) (cm) TP dz(PV) (cm)



	Contents
	Page 1


